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Introduction

This essay examines how the tax raising powers of the Scottish Parliament will operate in the context of the overall funding arrangements for the Parliament. It is argued here that the Parliament will find itself under almost irresistible pressure to raise taxes using these powers, given the on-going financial squeeze which it is likely to suffer on its budget. However, the use of the powers in this way is likely to be damaging given the perverse way in which the tax raising powers have been structured. This situation contrasts with the possibilities under independence: an independent Scottish Parliament would have the opportunity to raise more tax revenue by lowering taxes for the benefit of all.

The essay is structured as follows. The first section looks at how the funding of the new Scottish Parliament will be determined and the tax varying powers open to the Parliament. Section 2 looks at the options open to the Scottish Parliament as regards its use of these tax varying powers and the implications of these options. The third section outlines in contrast the possibilities open to an independent Scotland.

How the Scottish Parliament Will Be Funded

Under devolution, the Scottish Parliament will have limited ability to influence the total amount of money to be spent on the services it controls. This is because the primary mechanism for determining the funding for the new Scottish Parliament will be the continuation of arrangements that currently operate to control the level of public expenditure in Scotland. There will, it is true, be the additional powers of the new Scottish Parliament to raise or lower income tax by the equivalent of up to 3 pence on the standard rate: but, as will be seen later in this essay, this power is actually fairly marginal when compared with the overall Scottish budget.


It is useful to start by reviewing how the current arrangements for determining the level of government expenditure in Scotland operate. The bulk of the expenditure within the responsibility of the Secretary of State for Scotland falls within what is known as the Scottish Block. The main ways in which the Scottish Block is used are:

· To fund the expenditure that Central Government itself undertakes on services like health: (total central government expenditure within the Scottish Block currently runs at about £8 billion.)

· To fund the grants that Central Government makes to support local authority current expenditure: (these grants currently total just over £5 billion).

· To provide borrowing consents for net local authority capital expenditure: (currently amounting to about £0.5 billion).

Changes to the Scottish Block are determined by the Barnett Formula, which operates as follows. Each year, the UK Government determines the planned changes to the amount of expenditure on each of the public services, like health, or education, in England. Where there is a Scottish counterpart service, falling within the responsibility of the Secretary of State for Scotland, the Scottish Block is then changed by a corresponding per capita amount to the change in England. The sum total of such changes then represents the overall change to the Scottish Block for that year. The Secretary of State can then spend the total Scottish Block on the services within his area of responsibility as he sees fit. The important point to note, however, is that the overall change to the Scottish Block is determined solely by the operation of the Barnett formula, applied to the changes in the relevant English programmes. This means that the size of the Scottish Block is determined externally by Whitehall: it does not depend either on decisions taken by the Secretary of State for Scotland, or on the amount of revenue which is raised by taxes in Scotland. This will continue under devolution: in other words, the Scottish Parliament will have no control over the size of the major part of its funding, which will continue to be determined through the Barnett Formula by changes needed in English programmes.

The Scottish Block does not cover all expenditure on the services which are within the Secretary of State’s responsibility. There is, for example, some expenditure on agriculture, which is within the Secretary of State’s budget, but which is not within the block. More significantly, although the Scottish Block contains central government grants to local authorities to fund their current expenditure, it does not cover that part of local authority current expenditure which is funded from their own resources, (principally the Council Tax). In 1996/97, total expenditure on services within the Secretary of State’s responsibility was £14.9 billion, compared with the size of the Scottish Block at £13.7 billion. Despite not being within the Scottish Block, local authority self-financed expenditure is still regarded by the Government as falling within its overall control total for public expenditure. It is not open to the Secretary of State for Scotland simply to compensate for any shortfall on the Scottish Block by allowing Council Tax to increase without limit.

The final point to note about the current arrangements for controlling public expenditure is that the Barnett Formula implies an inbuilt squeeze on levels of public expenditure in Scotland. Currently, levels of per capita expenditure in Scotland are significantly higher than in England, for most services. Since the Barnett formula implies equal per capita increases in Scotland and England, then, (assuming expenditure is rising in money terms), Barnett implies a lower percentage increase in Scotland compared with England. In due course, if expenditure continues to rise in money terms, Barnett will imply eventual convergence of per capita levels of public expenditure in Scotland and England.

Under devolution, the main arrangements for funding public services will closely parallel the current arrangements as described above. In particular, the major part of the funding of the new Scottish Parliament will be determined by the operation of a new Block. Changes to this Block from year to year will be governed by the operation of the Barnett formula, as at present, and will be subject to the Barnett squeeze. The initial size of the new Block will differ from the size of the current Scottish Block, because of some adjustments to reflect the differing responsibilities of the new Parliament. (The detail of these adjustments is still to be determined.) Some expenditure on agriculture will remain outside the new Block.

Local authority self financed expenditure will also be outside the Block, as at present. The Scottish Parliament will have the powers to control local authority self-financed expenditure, through capping or other means. However, the Scottish Parliament will be subject to discipline from Whitehall, in order to ensure that the overall growth in local authority self-financed expenditure is controlled. The Devolution White Paper makes it clear that, if growth in local authority self-financed expenditure in Scotland was such as to threaten UK targets for the management of public expenditure, and if the Scottish Parliament chose not to exercise its powers of control, then it would be open to the UK Government to take this into account in determining its level of support for expenditure in Scotland. This is a scarcely veiled threat that, under these circumstances, the Scottish Parliament would be penalised in its Budget.

The distinctive new element in the Parliament’s financing arrangements will be the power to make a limited variation in the standard rate of income tax. Let us now examine in more detail how this tax varying power is expected to operate. The Scottish Parliament will have the power to raise or lower the standard rate of income tax by up to 3 pence in the £: note that the top rate of tax, and the lower rate will remain the same as they are in the rest of the United Kingdom. So, for example, if the powers to increase the standard rate were indeed used, then someone currently paying only at the lower rate of tax would have no change in their tax bill; someone paying at the top of the standard tax rate band would pay an additional £660 per annum in tax; and anyone with a higher income, for example one of £200,000 per annum would still only pay an extra £660 per annum in tax.

Liability will fall only on Scottish taxpayers, defined broadly as those taxpayers who spend at least half of their time in Scotland while resident in the UK, or whose principal home is in Scotland. The tax varying power will apply only to earned income -  dividend and savings income will be exempt. A register will be set up by government and employers, to record those liable under the tax varying powers. The government estimates that the annual yield of the maximum 3 pence increase in basic rates will be about £450 million. There will be significant costs involved in setting up and maintaining the register. The set up costs to government and employers were roughly estimated in the White Paper at £10 million and £50 million respectively: there would then be a running cost of £8 million to the government and between £6 million and £15 million to employers.


Under devolution, the Inland Revenue will continue to be responsible for the collection of income tax in Scotland and the revenue collected will continue to form part of the Whitehall Exchequer’s tax revenues. The income tax collected in Scotland goes into the general UK revenue pot, from which the Block to the Scottish Parliament will be funded as is the Scottish Block today.

If the Scottish Parliament decides to use its tax varying powers to raise the standard income tax rate, then the extra revenue collected will be passed to the Scottish Parliament, and will represent additional resources over and above the Scottish Parliament’s primary funding, which is determined by the Barnett formula. As noted above, this primary funding is determined externally; it can go up or down and is outwith the direct control of the Scottish Parliament.

If the Scottish Parliament were to decide to lower the basic rate of tax, then the situation is slightly more complex. In this case, the Inland Revenue would estimate how much the UK Exchequer had lost because of this reduction: and to compensate the UK Exchequer, this amount would be deducted from the primary funding going to the Scottish Parliament.

Options for the Use of the Tax Varying Powers under Devolution.
Now let us consider how the Scottish Parliament, of whatever political persuasion, is likely to operate its tax varying powers: and what the implications are. 

One possibility is that it decides not to exercise its tax varying powers at all. This  is most unlikely. First of all, there is the cost involved in setting up and maintaining the register. As noted earlier, this will be considerable, and will still be incurred whether or not the Parliament exercises its powers. Failure to exercise the powers will then lead to the inevitable criticism that the money involved in setting up and maintaining the register is being wasted: and this, in due course, would fuel a lobby to remove the powers. 

Secondly, and even more cogently, the Scottish Parliament is likely to be under severe financial pressure. Suppose, for example that there is no real growth, but that public expenditure in England but is rising by 3% per annum in cash terms simply to compensate for inflation:  then the Barnett formula implies that there would be a cut in real terms in public expenditure in Scotland of about £84 million cumulatively each year. Of course, if there were real growth in public expenditure in England, the pressure would not be so intense. For example, real growth of 2% per annum in public expenditure in England, together with inflation of 3%, would imply, via Barnett, real growth of about 1% in public expenditure in Scotland. This scenario is consistent with the Government’s public expenditure plans as announced in 1998. These plans, however, look extremely optimistic, particularly given current recessionary fears. The combination of no real growth in public expenditure in England, together with inflation of 3%, looks a much more likely scenario over the medium term.


Given this, the Scottish Parliament is likely to be under almost irresistible pressure to use the tax varying powers to raise the standard rate, even if this purchases only a temporary respite from an ongoing squeeze. Moreover within a relatively short space of time it is likely to have to increase the standard rate by the maximum possible amount. For example in the fifth year of such a squeeze, Parliament would need to find an extra £420 million in that year alone, to prevent cuts. Give or take a few tens of millions, this is almost what it is estimated would be raised by a full 3 pence on the standard rate of tax. So, after five years, the Scottish Parliament would be using the whole of its tax raising powers, simply to preserve the same real spending level which Scotland started with. Thereafter, progressive real cuts in spending would be inevitable.

The consequences for the Parliament are likely to be profound. One of the striking  features of the devolution referendum was the strong second “YES” vote for giving the Parliament tax varying powers. Implicit in this vote, however, was the assumption that the tax varying powers presented the Scottish people with a real choice: namely, the choice of whether or not to elect to have a modest increase in taxation in return for real improvements to the standards of public services which the Scottish Parliament could provide. When it becomes clear that, in fact, the Scottish Parliament is under enormous pressure to increase taxes, simply to temporarily delay real cuts in spending which will in due course happen anyway, then there is likely to be a crisis of disappointed public expectation. Precisely how this will manifest itself is unclear: but there is a danger that it will manifest as disenchantment with the Scottish Parliament and in a feeling that this proves the Scots are incapable of running their own affairs, rather than in a recognition that this outcome was implicit in the way the arrangements for the Scottish Parliament were set up. The disappointment is likely to be most severe among those who, proportionately speaking will be hardest hit by the tax increase: that is, those at the upper end of the standard income tax rate band, with taxable earnings around £26,000.

What we have not examined so far is the third possible option for using the tax varying powers: namely, the option of reducing the standard rate by up to 3 pence. It could be argued, for example, that this option would both stimulate the economy, and attract more people to live and work in Scotland. This could potentially increase the overall tax base of earned income in Scotland, and might actually increase the total income tax revenue generated in Scotland. This argument, however, does not take into account the way in which the tax varying powers of the devolved Scottish Parliament will actually work. First of all, the way in which a Scottish Parliament can vary income tax is very limited; it only has the power to alter the standard rate of tax on earned income, and by a limited amount. It seems unlikely that if an independent Scottish Parliament were setting out to design a tax policy from scratch intended to positively improve the tax base that it would restrict itself to this limited scope for action. Secondly, if the Scottish Parliament does use its powers to lower the standard rate of tax, this will, as noted earlier, attract  a fiscal penalty; the Inland Revenue will estimate the cost of the tax foregone which will then be subtracted from the Scottish Block. If the policy of increasing the tax base in Scotland actually worked, then the beneficiary would be the Whitehall Exchequer, at the expense of the finances of the Scottish Parliament. This is because any increase in the amount of tax collected would go directly to Whitehall. Moreover, the Inland Revenue’s estimates of the cost of the tax foregone would increase so that the fiscal penalty on the Scottish Budget would actually increase. Effectively, the option of using the tax varying powers to positively influence the tax base in Scotland has been precluded because of the perverse way in which the tax varying powers have been designed. 

Options under Independence.


This bleak scenario contrasts with options which would be open to a Scottish Parliament under independence. Like any sovereign government, an independent Scottish Parliament would have wide flexibility to design its taxation policy and would benefit in full if the policy had a positive effect in increasing the overall tax raised, for example by increasing the overall tax base. The other side of this coin, of course, is the converse danger that the public finances of an independent Scotland would be directly penalised if policies were pursued which prejudiced the tax base.


An independent Scotland, therefore, would have to pay very close attention to the design of its taxation policies both as regards income tax and other taxes such as corporation tax and National Insurance contributions. Precisely what policies should be adopted would be up to the Parliament to decide. But there is plenty of evidence that relatively small countries with economies closely linked to major economic blocks (as Scotland’s is to the rest of the British Isles and to Europe), have a good deal of scope to positively influence their tax bases by introducing relatively low rate taxation regimes.

One of the main factors which an independent Scottish Parliament would have to take into account in designing its income tax policy is the structure of the existing tax base in Scotland. The structure of the tax base is illustrated in the following table, based on Inland Revenue statistics, which shows the number of taxpayers in Scotland falling in different bands of taxable income, together with the corresponding total income tax liability for each band.

Scotland, 1995/96.

Lower Income
Nos of taxpayers

As % of

Income tax
As % of  All

Limit £

(thousands)

taxpayers
Liability (‘000)
Income Tax

  3525

  143


    6.4

    18

    0.3

  5000

  691


  30.9

  450

    7.7

10000

  615


  27.5

1110

  19.0

15000

  319


  14.3

  930

  15.9

20000

  319


  14.3

1440

  24.6

30000

  110


    4.9

  910

  15.6

50000

    38


    1.7

  990

  16.9


Total

2235


100.0

5848

100.0

What do we learn from this? Above all the table demonstrates how we are heavily dependent for a lot of the income tax raised on a relatively small number of 


taxpayers. It does not take much to see from the table that the top 6.6% of taxpayers in Scotland contribute more in tax than the lowest 65% of taxpayers. The implication is that a relatively small change up or down in the number of high income earners in Scotland, will have a quite disproportionate effect on the amount of income tax collected in Scotland.


In fact the distribution of income in Scotland, highly skewed though it is, is less skewed than the distribution of income in the UK as a whole. For example,  in 1995-96, in the UK as a whole, over 7.5% of taxpayers had incomes over £30,000, compared with 6.6% in Scotland: even more revealingly, in the UK, this group contributed 39% of income tax payable, whereas in Scotland, the same group contributed just over 32%.  Overall, while Scotland represents 8.9% of the population of the UK, income tax collected in Scotland is estimated by the Scottish Office at 7.9% of total income tax raised in the UK. While the reasons for Scotland’s relatively low share of tax collected are not fully understood, it appears that one significant contributory factor is that there are relatively fewer high income earners in Scotland compared with the UK.

It is also interesting to compare the magnitude of the income tax liabilities in this table with other sources of Scottish revenue. As can be seen from the table, the total income tax liability in Scotland in 1995/96 was £5.8bn: (in fact, not all of this liability results in tax collected: the total income tax collected in Scotland was £5.4bn). The total tax liability of the top 6.6% of income tax payers in Scotland was £1.9bn. By comparison, the total revenue to Whitehall of tax on North Sea oil and gas production was £1.6bn  in 1994/95, £2.4bn in 1995/96, and estimated at £3.6bn in 1996/97. In other words, the income tax liability of the top 6.6% of earners in Scotland represents a revenue resource of the same order of magnitude as North Sea Oil and Gas revenues over the recent past.

As already noted, it will be for an independent Scottish Parliament to design its own income tax policy, balancing the Scottish people’s desire for social justice, the need to raise short term revenue, and the need to safeguard and enhance the tax base in the interests of the longer term revenues of the country. But, in coming to this balance, it is clear that the Scottish Parliament would need to pay as much attention to the need to develop the size of the tax base at high income levels, as it would to safeguarding the revenue potential of the North Sea. Indeed, the Scottish Parliament would have to pay more attention to the income tax base- since this resource is renewable, and capable of being grown with appropriate policies, whereas the prospect for the North Sea is of decline.

Conclusion
The above analysis suggests that the power to vary income tax, as currently designed, represents a poisoned chalice. On the surface, the offer looks tempting: the chance to fund real improvements in public services, at the cost of a modest increase in taxation. This is the deal the Scottish people bought into so willingly in the referendum. In reality, the Scottish Parliament will be under great pressure to raise taxes, but not to improve services- merely to offset the ongoing squeeze implied by Barnett. The resulting damage will be twofold. First, there will be the immediate damage caused by the disappointed expectations of the Scottish people. Secondly, the message of higher taxes, even if only marginally higher, will give precisely the wrong psychological signal if the long term aim is to enhance Scotland’s overall tax base.


This scenario has implications for all political parties, but particularly for the Scottish National Party. For the SNP, these implications come in the shape of a threat and an opportunity.


The threat for the SNP is that, as the Scottish Parliament, of whatever persuasion, exercises its tax raising powers, but fails to deliver corresponding real benefits, the resulting disappointment will damage the case for independence: if devolution is perceived as failing because of financial pressure how much greater will the risks of independence appear. 

The opportunity is that the SNP, alone among political parties, can point out that the adverse consequences of the current arrangements could be turned into advantages on independence. In particular, an independent Scotland would have the ability to implement a tax system designed to increase its tax base - and would benefit directly from rather than be penalised for resulting increases in the tax base. 

Note
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